O

o /£

 BEEEREEE S vevws it 108
: g ¥ ' 4. B H

23.43= 708"

AN
WSS m* =
; 2050427

.83

COREFE. THREBBEEXCEHTISEENLE LTRELTVLET,
ORESFBMANBEDNLOTHY . BENRKRLFRLIBENHY FT.
OHE%I-&>T. HRFHNHESNILOTEHY EFtA.

7.84 10.89 15,98 740 1570 19.5¢6 10.82
8 8l | % ] ) o
b P N N N N
,é M
ot -
/ 10.87 15.90 V.53 15.90 19.60 3.50
5-;' 79 12,45
e : T
[\N
b A g
Q 714 | o = x
\"3 b N Q N
Q 3 N
N N e s;
P e
17 33 AR 54,50 10,23




COHEFE, THRERBEXICEYTLISZEHNELTRELTVET, \

\
\ OHEEZ AL EFDLDTHY . BEDKREFELLZENHY ET,
'\ OHE#ICL > T, BERENEESINLLDTREHY FEA, \
\\ \"
/ . \
‘/ 1booo \\
\
M 23
)é (A2 ¢2y- 13 3™ \
NO 32
\ A= 1710,097
B 72.58 secb-1b (l.oobod% 3.00 =Z- :32( Y= ~611. 8553
~033 ! -vbz Lonb-l6 (0,10]8)%\3.00=2 et
\7o o ,0_,3“.“5:))('7.50—? s e \ 2.7 2>
VA TR LS S o S s2-9o- | ¥RR
AABC =747 (L Bkl s, e o, 58,07 : [ g"\ o
‘ S & f"’“’z—” (57.92) | & & e
AC=V90.88% 0.0~ 2x f0.58x 0.04 X (o2 17-42 A | J’*\g::\
X / KN g
= ?0'37"1 S§ / jéaj;v'w 33"4‘4“7 77 7217 ‘ !?’é\
: Jgom" $8 Aog  3772=1.94423T7 SliE
S =Z L3> 5\ X \ R N
v B e . oa | Aog 4L Jé= ). 422 IR0 (+— \ ‘?E)
LALB 70,53;:},'”‘;?-42/ =a,734o=/oa"_,L/¢5.'w\Q §§ /J ’ ;/%4_2/43 f"\ : é At
4 " ' G4d . S L
R ) [ legsenTf-429.9727 3 = 34bb, 20 )= 1832,00"" N
o i /& v il 7053= /. $554453 e /= g\. Sh
\;Z\?{‘L‘/’; ¥ Aog 4247/ 428257 (+_— *?\é' !
AEDC=0F i\ '7/ - 35794997 = 795,26 /% i};\
Q | - A
EC = V42,49 0.2~ 2 x 424 7% 02 xCaa [ f-4] Pl = /827.43M° ::‘e\\i\‘\
e (< S
= 42,28M g * IS
. m  Ss1X L
=0y =%x4~2.4‘>’xi.27x3w\77-47=5- LB‘Z a5 |\ 70.77 ? S
3 e Sl ey 2b =2/ o8} = A\
B G i SRR e s, T Sl °F
LT e SNl Ly e TR & oo o oniyssee= 245 | a=upslere
S e 7/%/‘3"'3(""”’4)"/”?? 3(+ ‘ el Ysds; 418
S tessraans | T (0N18 (GIB1T) X450 ';@5 e \
==570.2/8 [ \\‘ ' ‘\\
, :

BEECE 7T \ \
EF=V/4298"% 0,122 X 4235 %0.)Ax (ot 7754 = 4’7% \
BT = X 42,38 012X Sin 9954 = z 505mM° ‘\\

Yo {7 EFCD:@’)]T%:)’.[,BTfZ,b‘QE:X 4zM \
\
. e Ei o tj;-/— ﬁ-
BEERE - 189510 + 1399\b3 -2 153+ 31423728, | ] Mx0.30257 11323 ™) = (/7077
\ % e N A, 1
Ik 2342 + 195 Y 205 = 27 45m2(xo.a02/- 227%)- 223V
B p 37le. 76™ (x03025= 1122, 50%) = J1224] B
£ ;
Q
X 8
N

R



	page1
	page2

